SAP ABAP table BUP S RELX DATA INT {BP Rel.: Internal Segment Data Generic BUT051 Relationship}
BUTO50

CLIENT [CLNT (3)]
RELNR [CHAR (12)]
BUP S RELX DATA INT-RELNR = BUT050-RELNR
~__----{0,1} | PARTNERI1 [CHAR (10)]
- PARTNER2 [CHAR (10)]
_ - DATE_TO [DATS (8)]

-7 TOO0O
MANDT [CLNT (3)]

TB910
CLIENT [CLNT (3)]
ABTNR [CHAR (4)]

TB912
CLIENT [CLNT (3)]
PAFKT [CHAR (4)]

TB914

N CLIENT [CLNT (3)]
PAAUTH [CHAR (1)]

TB916
"~ _ BUP_S_RELX DATA INT-RELTYP = TBZ9-RELTYP  0.N | CLIENT[CLNT (3)]
NN PAVIP [CHAR (1)]
N TBZ9

—— CLIENT [CLNT (3)]

-
= -

0..N FRELTYP [CHAR (6)]
XRF [CHAR (1)]




